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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level History 
9489, and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s 
curriculum and assessment objectives. 

In this booklet, candidate responses have been chosen from the June 2021 series to exemplify a range of answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are: 

9489 June 2021 Question Paper 12

9489 June 2021 Mark Scheme 12

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

http://www.cambridgeinternational.org/support
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How the candidate could have improved their answer

(a)

◦ The response would have been improved by showing the similarities and differences between the sources
with relevance to the question, i.e., the views of New York regarding annexation.

◦ The candidate should have shown how these similarities and differences appeared in the sources by using
support directly from the sources. This could take the form of a short quotation or a paraphrase.

Common mistakes candidates made in this question

• (a) Candidates did not look for the similarities and differences related directly to the question, i.e., New York views
of the annexation of Texas. Instead, they offered vague or unsupported comparisons which could not be credited.

•	  Candidates should not presume that a source will have a particular opinion just because it comes from a particular
state or organisation. It is important to read the content of the source.Lists the common mistakes candidates made

in answering each question. This will help your 
learners to avoid these mistakes and give them the 

best chance of achieving the available marks.

Often candidates were not 
awarded marks because they misread or 

misinterpreted the questions. 

       The candidate misreads 
Source B. It is not a pro-
slavery source.

       A valid difference between 
the sources is shown with 
clear support from each 
source.

       This is a weaker attempt 
at contrast as the point is not 
made clear from Source A.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 

helps your learners to refine their exam technique.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments.

Example Candidate Response – low Examiner comments

Answers are by real candidates in exam 
conditions. These show you the types of answers for 

each level. Discuss and analyse the answers with your 
learners in the classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 

to interpret the standard of 
Cambridge exams so you can 

help your learners to refine their 
exam technique.

1

2

1

2

3

3
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Question 1

Example Candidate Response – high Examiner comments

1

2

3

       A clear agreement between the 
sources is shown which is relevant 
to the question, i.e., Frederick 
William’s refusal of the German 
Crown. Quotes from each source 
are used to support the agreement.

       A clear difference between the 
sources is shown here. Quotes from 
each source are used to exemplify 
the difference.

       The candidate briefly discusses 
the nature of the sources here.

       The differences between the 
sources are restated and refined 
with further comment.
Mark for (a) = 11 out of 15

3

1

2

4 4
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Example Candidate Response – high, continued Examiner comments

       The candidate clearly 
challenges the statement given 
in the question – ‘The Frankfurt 
Parliament was to blame for the 
failure of the 1848–49 revolutions.’ 
The candidate states this clearly 
and offers a quotation from the 
source to support.

       Some general provenance on 
the source is given here.

       Another challenge is shown to 
the statement given in the question, 
and a quote from the source is 
given suggesting that the violence 
had nothing to do with the proposed 
Constitution.

       General provenance of the 
source is described.

5

6

5

6

7

8

7

8
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Example Candidate Response – high, continued Examiner comments

       The candidate uses Source C 
to challenge the statement given in 
the question.

       The candidate uses Source D 
to show support for the statement in 
the question. A clear quotation from 
the source is used to support the 
candidate’s argument.

       The provenance of the source 
is briefly discussed here.

       The candidate gives a 
summary conclusion of whether the 
sources support or challenge the 
statement.
Mark for (b) = 15 out of 25

Total mark awarded =
26 out of 40

9
9

10

11

12

10

11

12
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How the candidate could have improved their answer
(a)

◦ The candidate could have made a more developed comparison of the sources by looking at other similarities
and differences between the sources.

◦ The comparison could also have been developed by using the provenance of each source (the nature, origin,
or purpose) to directly explain why the sources might be similar or different. One way of doing this would
have been to explain how and why the different purposes of the sources lead to differences in the content.

◦ Provenance was discussed in this response, but it was not used to directly explain comparisons.
(b)

◦ This is a good response which clearly demonstrates how the sources support and challenge the statement
given in the question and begins to describe the provenance of the sources. To improve, this response
needed to use the nature, origin, or purpose of the sources to test them against the statement.

◦ As well as showing how the sources support and/or challenge the statement by using direct quotations
(which this response does) the candidate also needed to place the sources in context and evaluate them
against the statement. This would also have allowed the response to consider which of the sources is the
most useful for answering the question and how much weight the evidence holds.
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Example Candidate Response – middle Examiner comments

       General provenance 
comparison only.

       A valid difference shown with 
some support from sources. 

       There is further exploration 
of difference although it is weaker 
as it is based on something not 
mentioned in Source A.

       The candidate includes some 
further discussion of differences.
Mark for (a) = 7 out of 15

3

1

2

1

2

3

4 4
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Example Candidate Response – middle, continued Examiner comments

       Contextual knowledge of the 
Frankfurt Parliament is shown here, 
but it is not linked to the sources.

       Continued general discussion 
of contextual knowledge.

5

6

5

6
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Example Candidate Response – middle, continued Examiner comments

       Asserted information from the 
sources are included here but there 
is no support from the sources. 

       This is a valid use of Source 
C to support the statement in the 
question.

       A valid use of Source B to 
challenge the statement.

       A valid use of Source D to 
support the statement.

       A general discussion of sources 
without specific reference to 
answering the question.
Mark for (b) = 12 out of 25

Total mark awarded =
19 out of 40

9

7

8

9

7

8

10

11

10
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How the candidate could have improved their answer
(a)

◦ The candidate only explained the differences between the sources and should have attempted to look at
valid similarities in content as well.

◦ The provenance of the sources (nature, origin, or purpose) could have been discussed to show that the
candidate understood how they might make a difference to whether the sources are similar or different.

(b)

◦ This mid-level response showed some awareness of how the sources support and challenge the statement,
but it has clear areas for improvement.

◦ The response would have been improved if the candidate had used all the sources to show whether they
support or challenge the assertion in the question. Support from the sources in the form of a quote or direct
paraphrase should have been given.

◦ The candidate used the first page of the answer to describe general contextual knowledge of the period.
This did not add to the answer as this is a source-based task. Instead, the candidates should have used
this knowledge in combination with the sources to explain why they might support or challenge the assertion
given in the question.
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Example Candidate Response – low Examiner comments

       This is a general introduction 
using some contextual knowledge, 
but this is not related to the sources.

       This is a basic description of 
Source A.

       Some discussion of the issue 
is given here but the task in this 
question is to compare the sources 
against each other, whereas this 
only looks at Source A.

3

1

2

1

2

3
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Example Candidate Response – low, continued Examiner comments

       This shows some description 
and paraphrase of Source A, but it 
is not contrasted with Source C.

       The candidate gives a basic 
description of Source C.

       A discussion that is not related 
to the focus of the question which 
is to compare and contrast the 
sources.
Mark for (a) = 3 out of 15

5

6

5

6

44
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Example Candidate Response – low, continued Examiner comments

       Part (b) of the question begins 
here.

       A general introduction is given 
using contextual knowledge but not 
linked to the sources.

       A valid use of Source A to show 
support for the assertion in the 
question.

9

7

8

9

7

8
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Example Candidate Response – low, continued Examiner comments

       A valid use of Source B to show 
support for the assertion in the 
question.

       A valid use of Source C to show 
support for the assertion in the 
question.

       Some support is shown from 
Source D although it is not made 
entirely clear.

       A summary conclusion of the 
ideas already stated.
Mark for (b) = 9 out of 25

Total mark awarded =
12 out of 40

10

11

10

11

13 13

12
12
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How the candidate could have improved their answer
(a)

◦ The candidate could have improved the response by showing the similarities and differences between the
sources with relevance to the question, i.e., Frederick William’s refusal of the German crown.

◦ The candidate should have shown how these similarities and differences appear in the sources by using
support directly from the sources. This could take the form of a short quotation or a paraphrase.

(b)

◦ The response would have been improved by showing that the candidate understood that the sources show
support and challenge for the assertion in the question about the failure of the Frankfurt parliament. The
response was also one-sided.

Common mistakes candidates made in this question
• (a) Candidates did not look for similarities and differences related directly to the question asked, i.e., Frederick

William’s refusal of the German crown. Instead, they offered vague or unsupported comparisons which cannot be
credited.

• (b) Candidates often wrote long sections attempting to evaluate the sources, but this was not related to how
useful the source is for answering the question which was asked. Provenance should have been used to place the
sources in context and discussed how this affects their evidential weight in the question.

•	  In both parts of the question, candidates sometimes included long sections of contextual knowledge which,
although relevant to the topic, did not help to answer the question. Contextual knowledge should be used directly to
explain the similarities and differences in (a), and to analyse the sources in (b).
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Question 2

Example Candidate Response – high Examiner comments

1

2

       A valid comparison of sources 
with support.

       The candidate provides a 
further explanation of comparison 
here.

1

2
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Example Candidate Response – high, continued Examiner comments

       A valid contrast of sources is 
given here showing a supported 
difference.

       Further explanation of 
differences is given here.

       A useful contextual knowledge 
is given here to explain the source.

4

5

4

5

33
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Example Candidate Response – high, continued Examiner comments

       The candidate provides a 
brief outline of the role of railways 
in bringing about industrialisation 
without explanation.

       The candidate provides the 
other side of the argument in the 
examination of access to resources, 
such as coal and iron ore, vital to 
industrialisation.
Mark for (a) = 12 out of 15

7
7

6
6
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Example Candidate Response – high, continued Examiner comments

       A valid use of Source A to 
challenge the assertion in the 
question.

       A valid use of Source B is 
given to support the assertion in the 
question.

       A valid use of Source C is 
given to support the assertion in the 
question.

9

10

9

10

88
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Example Candidate Response – high, continued Examiner comments

       A further discussion and 
analysis of Source C is given here.

       A valid use of Source D is given 
to disagree with the assertion.

11

12

11

12
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Example Candidate Response – high, continued Examiner comments

       A further discussion and 
analysis of Source D is given here.

       Some useful discussion of 
provenance is included in this 
section but not used to directly 
evaluate the utility of the sources for 
answering the question.

13 13

14
14
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Example Candidate Response – high, continued Examiner comments

       The candidate has included a 
useful summary conclusion.
Mark for (b) = 15 out of 25

Total mark awarded =
27 out of 40

1515
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How the candidate could have improved their answer
(a)

◦ The comparison could have been further developed by continuing to use the provenance of each source (the
nature, origin, or purpose) to directly explain why the sources might be similar or different. One way of doing
this would have been to explain how and why the different purposes of the sources lead to differences in the
content. This response began to do this, but it could have been done more systematically.

(b)

◦ This was a good response which clearly demonstrated how the sources support and challenge the statement
given in the question and began to describe the provenance of the sources. To improve, this response
needed to use the nature, origin, or purpose of the sources to test them against the statement.

◦ So, as well as showing how the sources support and/or challenge the statement by using direct quotations
(which this response did) it also needed to place the sources in context and evaluate them against the
statement. This would also have allowed the candidate to consider which of the sources was the most useful
for answering the question and how much weight the evidence holds.
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Example Candidate Response – middle Examiner comments

       The candidate provides a 
simple description of Source A.

       Only Source A is described on 
this page.

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       This implies a difference with 
Source A, but it is not made explicit.

       A valid difference between 
Sources A and B is shown here.

       A description of Source B in 
relation to the issue is given but the 
candidate does not show a contrast 
with Source A, so this is not a valid 
difference.

       A similarity between the 
sources is identified but no support 
from these sources is provided.
Mark for (a) = 8 out of 15

4

5

6

4

5

6

3
3
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Example Candidate Response – middle, continued Examiner comments

       This is a simple source 
overview, but the candidate 
does not make a clear link to the 
question.

       This is a valid use of Source A 
to challenge the assertion given in 
the question, i.e., the annexation 
of Texas would benefit the United 
States.

       Here, the candidate includes 
further discussion of Source A.

7

8

7

8

9 9
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Example Candidate Response – middle, continued Examiner comments

       A valid use of Source B is given 
to support the assertion given in the 
question.

       Further discussion of Source B 
is included here.

       A valid use of Source C is given 
to support the assertion given in the 
question.

10 10

11

12

11

12



Example Candidate Responses – Paper 1

31

Example Candidate Response – middle, continued Examiner comments

       A valid use of Source D is given 
with accompanying support, to 
challenge the assertion given in the 
question.
Mark for (b) = 13 out of 25

Total mark awarded =
21 out of 40

13 13

How the candidate could have improved their answer
(a)

◦ The candidate should have made comparing and contrasting the sources the main focus of their answer.
The response had large sections of description which means that only a short amount of time was spent
directly comparing the sources for similarities and differences. Hence, the response was awarded for a valid
difference but only the identification of a similarity.

◦ To improve, the response needed to ensure that any contextual knowledge in the answer was used to
compare or contrast the sources rather than just as extra detail which did not answer the question.

(b)

◦ This was a mid-level response which showed some awareness of how the sources support and challenge
the statement, but it has clear areas for improvement. The candidate needed to continue developing their
analysis of the sources by considering how relevant contextual knowledge and provenance impact on their
usefulness. This could have been done by further explaining why particular sources support or challenge the
assertion given in the question or by showing how the source fits into the wider context.

◦ The candidate should have evaluated the nature, origin, or purpose of the sources to decide how useful they
were when answering the question. This would allow the candidate to consider how much weight they could
give to each source.
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Example Candidate Response – low Examiner comments

       The candidate misreads  
Source B. It is not a pro-slavery 
source.

       A valid difference between the 
sources is shown with clear support 
from each source.

       This is a weaker attempt at 
contrast as the point is not made 
clear from Source A.

       This is incorrect. These sources 
are from before the Mexican-
American War.

       An attempted comparison is not 
made clear and so this cannot be 
rewarded.

3

1

2

1

2

3

5

4

5

4
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Example Candidate Response – low, continued Examiner comments

       A simple description of 
provenance of Source A is given 
here.

       The candidate confuses the 
origins of Source B.
Mark for (a) = 5 out of 15

66

7 7
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Example Candidate Response – low, continued Examiner comments

Please note that Questions 
2(a) and 2(b) are from different 
candidates.

       The analysis of the source 
is not clear here. This suggests 
misunderstanding by the candidate.

       A weak challenge to the 
assertion from Source A but this is 
not made explicit.

       A valid use of Source B is 
used to support the assertion in 
the question, i.e., the annexation 
of Texas would benefit the United 
States.

9

8

9

8

10

10
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Example Candidate Response – low, continued Examiner comments

       An understanding of the source 
is not made clear here. Therefore 
the analysis is also unclear.

       This shows some weak support 
for the assertion from Source C, but 
this is not made clear or supported 
with evidence from the source.
Mark for (b) = 11 out of 25

11 11

12

12
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Example Candidate Response – low, continued Examiner comments

How the candidate could have improved their answer
(a)

◦ The response would have been improved by showing the similarities and differences between the sources
with relevance to the question, i.e., the views of New York regarding annexation.

◦ The candidate should have shown how these similarities and differences appeared in the sources by using
support directly from the sources. This could take the form of a short quotation or a paraphrase.

(b)

◦ The candidate needed to make a clearer analysis of each source by stating whether it supported or
challenged the statement in the question and used support from the source. This support could have been in
the form of a direct quotation or paraphrase.

◦ Once the candidate had established whether the sources supported or challenged the assertion, they could
begin to use contextual knowledge to explain the sources.

Common mistakes candidates made in this question
• (a) Candidates did not look for the similarities and differences related directly to the question, i.e., New York views 

of the annexation of Texas. Instead, they offered vague or unsupported comparisons which could not be credited. 
Candidates should not presume that a source will have a particular opinion just because it comes from a particular 
state or organisation. It is important to read the content of the source.

• (b) Candidates often wrote long sections attempting to evaluate the sources, but this was not related to how useful 
the source was for answering the question. Provenance should have been used to place the sources in context 
and discuss how this affected their evidential weight in the question.

•  In both parts of the question, candidates sometimes included long sections of contextual knowledge which, 
although relevant to the topic, did not help to answer the question. Contextual knowledge should have been used 
directly to explain the similarities and differences in (a) and to analyse the sources in (b).
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Question 3

Example Candidate Response – high Examiner comments

1

2

       A valid use of both sources 
to show a difference in relation to 
the question, i.e., evidence about 
foreign intervention in Spain.

       Further exploration of this 
difference between the sources is 
analysed for the rest of the page.

1

2
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Example Candidate Response – high, continued Examiner comments

       A valid use of both sources to 
show a similarity which is relevant 
to the question asked.

       Some discussion of 
provenance is given but not directly 
used to explain the comparison 
between the sources.

       Some further discussion of 
provenance is given here.
Mark for (a) = 11 out of 15

5
5

3

4

3

4
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Example Candidate Response – high, continued Examiner comments

       Source A and Source B are 
used, with evidence, to show 
support for the assertion in the 
question, i.e., there was a genuine 
commitment to enforcing non-
intervention in the Spanish Civil 
War.

       A valid use of Source D to show 
support for the assertion in the 
question.

6
6

7
7
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Example Candidate Response – high, continued Examiner comments

       A valid use of Source A to 
challenge the assertion in the 
question with evidential support.

       A valid use of Source C to 
challenge the assertion given in the 
question. This is explained through 
analysis.

9

8

9

8
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       A general discussion of 
provenance is given in this section, 
but it is not used to directly analyse 
the utility of the sources for 
answering the question.

Example Candidate Response – high, continued Examiner comments

10 10
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       Some useful contextual 
knowledge is given here.
Mark for (b) = 15 out of 25

Total mark awarded =
26 out of 40

Example Candidate Response – high, continued Examiner comments

How the candidate could have improved their answer
(a) 

◦ The candidate could have made a more developed comparison of the sources by looking at other similarities
and differences between the sources.

◦ The comparison could also have been developed by using the provenance of each source (the nature, origin,
or purpose) to directly explain why the sources might be similar or different. One way of doing this would
have been to explain how and why the different purposes of the sources lead to differences in the content.

◦ Provenance was discussed in this response, but it was not used to directly explain comparisons.
(b)

◦ This was a good response which clearly demonstrated how the sources supported and challenged the
statement given in the question and began to describe the provenance of the sources. To improve, this
response needed to use the nature, origin, or purpose of the sources to test them against the statement. So,
as well as showing how the sources support and/or challenge the statement by using direct quotations (which
this response does) it also needed to place the sources in context and evaluate them against the statement.

◦ This would also have allowed the candidate to consider which of the sources was the most useful for
answering the question and how much weight the evidence holds.

11 11
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Example Candidate Response – middle Examiner comments

       Both sources are used to show 
a valid difference between the 
sources with supporting evidence.

       A further difference between 
the two sources relating to foreign 
intervention is briefly explained.
Mark for (a) = 6 out of 15

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       A valid use of Source A to 
agree with the assertion given in the 
question. Supporting evidence from 
the source is used.

       A valid use of Source B to 
agree with the assertion given in the 
question.

4 4

3
3
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Example Candidate Response – middle, continued Examiner comments

       A valid use of Source A to 
challenge the assertion given in 
the question with a direct quotation 
used to support.

       The candidate is actually using 
Source C, and not Source D.

       Use of Source C to challenge 
the assertion given in the question.

       A general summary conclusion.
Mark for (b) = 13 out of 25

Total mark awarded =
19 out of 40

7
7

8 8

5

6

5

6
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How the candidate could have improved their answer
(a) 

◦ The response focused on explaining the differences between the two sources but did not attempt analysis of
the similarities. The candidate should have ensured that they compared and contrasted the sources to fully
answer the question.

(b)

◦ This is a mid-level response which showed some awareness of how the sources support and challenge
the statement, but it has clear areas for improvement. The candidate needed to continue developing their
analysis of the sources by considering how relevant contextual knowledge and provenance impact on their
usefulness. This could have been done by further explaining why particular sources supported or challenged
the assertion given in the question or by showing how the source fitted into the wider context.

◦ The candidate should have attempted to evaluate the nature, origin, or purpose of the sources to decide how
useful they are when answering the question. This would allow the candidate to consider how much weight
they could give to each source.
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Example Candidate Response – low Examiner comments

       A general discussion of the 
question without clear comparison 
between the sources.

       Both sources are used to show 
a valid difference in relation to the 
question of foreign intervention.

1

2

1

2
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Example Candidate Response – low, continued Examiner comments

       Further exploration of the 
differences between the sources.

       Analysis of Source D is not 
relevant to this question as it 
is about comparisons between 
Sources A and C.

4 4

3
3



Example Candidate Responses – Paper 1

49

Example Candidate Response – low, continued Examiner comments

       Analysis of Source B is not 
relevant to this question as it 
is about comparisons between 
Sources A and C.
Mark for (a) = 5 out of 15

5 5
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Example Candidate Response – low, continued Examiner comments

       A general contextual 
introduction is given in this section, 
but it is not directly related to the 
sources, or the question asked.

6
6
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Example Candidate Response – low, continued Examiner comments

       A valid use of Source A 
to support the assertion in the 
question on the issue of non-
intervention.

       Another section of contextual 
knowledge which is not linked 
clearly to the sources.

       An assertion is made about 
what Source B says but this is 
not made clear by quoting or 
paraphrasing the source.
Mark for (b) = 7 out of 25

Total mark awarded =
12 out of 40

7 7

8 8

9

9
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How the candidate could have improved their answer
(a)

◦ The candidate needed to show the similarities and differences between the sources with relevance to the
question, i.e., evidence of foreign intervention in Spain. This should have been the focus of the response.
Also, the candidate only needed to use the two sources named in the question.

◦ To improve the response, the candidate needed to show how these similarities and differences appeared
in the sources by using support directly from the sources. This could take the form of a short quotation or a
paraphrase.

(b)

◦ The candidate needed to show that they understood that the sources showed support and challenge for the
assertion in the question about the commitment to non-intervention. The response was one-sided.

◦ When using contextual knowledge, the candidate should have linked it directly to discussing particular
sources rather than providing ‘chunks’ of knowledge that were not clearly linked to the question.

Common mistakes candidates made in this question
• (a) Candidates did not look for the similarities and differences related directly to the question, i.e., evidence

of foreign intervention. Instead, they offered vague or unsupported comparisons which could not be credited.
Candidates should look carefully at the content of the sources as well as who they are written by.

• (b) Some candidates often wrote long sections attempting to evaluate the sources, but this was not related to how
useful the source was for answering the question. Provenance should have been used to place the sources in
context and discuss how this affected their evidential weight in the question.

•	  In both parts of the question, candidates sometimes included long sections of contextual knowledge which,
although relevant to the topic, did not help to answer the question. Contextual knowledge should have been used
directly to explain the similarities and differences in (a), and to analyse the sources in (b).
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